
40th Petrozavodsk Programming Camp, Winter 2021
Day 7: North American Contest 1, Saturday, February 6, 2021

Problem G. Measuring WAC-ness
Input file: standard input

Output file: standard output

Time limit: 1 second
Memory limit: 512 mebibytes

Consider a string of length 𝑁 . Let string 𝑆 be that string repeated 𝐾 times. You are interested in how wack the
string is, so your task is to find the WAC-ness of this string.

The WAC-ness of a string is the number of times “WAC” appears as a subsequence of that string.

A subsequence of a string is a string that can be derived from the given sequence by deleting zero or more
characters without changing the order of the remaining characters. Two subsequences are different if at least one
of the remaining indices are different. For example, in the string “AABC”, the subsequence formed by indices 1, 3,
and 4 is distinct from the subsequence formed by indices 2, 3, and 4.

As the answer can be very large, please output the answer modulo 998 244 353.

Input

The first line will contain two integers, 𝑁 and 𝐾 (1 ≤ 𝑁 ≤ 200 000, 1 ≤ 𝐾 ≤ 200 000), the length of the original
string and the number of times that string is repeated to form 𝑆. The second and final line will contain the original
string of 𝑁 characters, consisting of uppercase letters of the English alphabet.

Output

Output the WAC-ness of the string 𝑆 modulo 998 244 353.

Examples

standard input standard output

5 1

WABCA

1

5 2

WABCA

5
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